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1. The probability that a biased coin lands on heads is 0.7

Work out the probability that the biased coin will not land on heads.

1. . . . . . . . . . . . . .

2. The probability that a cracker will bang when it is pulled is 0.9

Work out the probability that the cracker will not bang.

2. . . . . . . . . . . . . .

3. The probability of a spinner landing on a four is 0.1

Work out the probability of the spinner not landing on a four.

3. . . . . . . . . . . . . .
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4. Anika plants carrots in her allotment.

The probability that a carrot will grow is 0.5

Work out the probability that a carrot will not grow.
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5. The probability that it will rain is 0.4

Work out the probability that it will not rain.
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6. The probability that a biased dice lands on a six is 0.7

Work out the probability that the biased dice will not land on a six.
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